



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{2}{5} =$$



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \left(-\frac{9}{4}\right) = \left(-2\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{35}{18} = 1\frac{17}{18}$$

$$\left(\frac{3}{5}\right)^{(-2)} - \frac{1}{2} = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{6} = \frac{29}{6} = 4\frac{5}{6}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{71}{45} = 1\frac{26}{45}$$

$$\left(-\frac{1}{3}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{9}{16}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \left(-\frac{37}{6}\right) = \left(-6\frac{1}{6}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{3} = \frac{11}{3} = 3\frac{2}{3}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{3}\right) = \frac{43}{48}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{73}{2} = 36\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} = \frac{53}{80}$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{5} = \frac{14}{5} = 2\frac{4}{5}$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{4} = \left(-\frac{13}{18}\right)$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{2}{5} = \frac{27}{5} = 5\frac{2}{5}$$